

15.06.2021.

Mathematics Houe.

B.Sc. Part-I

Paper-I

Topic: C+is Method. (Exp)
(H. Trigo.)

~~Q.5~~ Sum the Series

$$1 - \frac{1}{2} \cos \theta + \frac{1 \cdot 3}{2 \cdot 4} \cos 2\theta - \frac{1 \cdot 3 \cdot 5}{2 \cdot 4 \cdot 6} \cos 3\theta$$

+ ... - ... + ...

Solⁿ: Let $C = 1 - \frac{1}{2} \cos \theta + \frac{1 \cdot 3}{2 \cdot 4} \cos 2\theta -$

$$- \frac{1 \cdot 3 \cdot 5}{2 \cdot 4 \cdot 6} \cos 3\theta + \dots$$

and $S = -\frac{1}{2} \sin \theta + \frac{1 \cdot 3}{2 \cdot 4} \sin 2\theta - \frac{1 \cdot 3 \cdot 5}{2 \cdot 4 \cdot 6} \sin 3\theta + \dots$

Then $C + iS = 1 - \frac{1}{2} (\cos \theta + i \sin \theta)$

$$+ \frac{1 \cdot 3}{2 \cdot 4} (\cos 2\theta + i \sin 2\theta)$$

$$- \frac{1 \cdot 3 \cdot 5}{2 \cdot 4 \cdot 6} (\cos 3\theta + i \sin 3\theta) + \dots$$

$$= 1 - \frac{1}{2} e^{i\theta} + \frac{1 \cdot 3}{2 \cdot 4} e^{i2\theta} - \frac{1 \cdot 3 \cdot 5}{2 \cdot 4 \cdot 6} e^{i3\theta} + \dots$$

$$= 1 - \frac{1}{2} x + \frac{1 \cdot 3}{2 \cdot 4} x^2 - \frac{1 \cdot 3 \cdot 5}{2 \cdot 4 \cdot 6} x^3 + \dots$$

On putting $e^{i\theta} = x$.

$$= (1+x)^{-1/2}$$

$$= (1+e^{i\theta})^{-1/2} = (1+\cos \theta + i \sin \theta)^{-1/2}$$

Now, we put $(1 + \cos \theta) =$

$r \cos \alpha$ and $\sin \theta = r \sin \alpha$

So that $r^2 = (1 + \cos \theta)^2 + \sin^2 \theta$

$$= 2(1 + \cos \theta) = 2 \cdot 2 \cos^2 \frac{\theta}{2}$$

$$\therefore r = 2 \cos \frac{\theta}{2}$$

$$\text{and } \tan \alpha = \frac{\sin \theta}{1 + \cos \theta}$$

$$= \frac{2 \sin \frac{\theta}{2} \cos \frac{\theta}{2}}{2 \cos^2 \frac{\theta}{2}}$$

$$= \tan \frac{\theta}{2}$$

$$\therefore \alpha = \frac{\theta}{2}$$

$$\therefore d = \frac{\theta}{2}$$

$$\text{Hence } C + iS = (r \cos \alpha + i r \sin \alpha)^{-1/2}$$

$$= r^{-1/2} (\cos \alpha + i \sin \alpha)^{-1/2}$$

$$= r^{-1/2} (e^{i\alpha})^{-1/2}$$

$$= r^{-1/2} \cdot e^{-i\alpha/2}$$

$$= \frac{1}{\sqrt{2}} \left\{ \cos \frac{\alpha}{2} - i \sin \frac{\alpha}{2} \right\}$$

Now equating the real part, we get

$$C = \frac{1}{\sqrt{2}} \cos \frac{\alpha}{2} = \frac{1}{\sqrt{2 \cos \theta / 2}} \cdot \cos \frac{\theta}{4}$$

Date _____
Page _____

Ex Sum the Series.

$$1 + \frac{1}{2} \cos 2\theta - \frac{1}{2 \cdot 4} \cos 4\theta +$$

$$\frac{1 \cdot 3}{2 \cdot 4 \cdot 6} \cos 6\theta - \dots \text{to } \infty$$

Solⁿ: Let $C = 1 + \frac{1}{2} \cos 2\theta -$
 $\frac{1}{2 \cdot 4} \cos 4\theta + \frac{1 \cdot 3}{2 \cdot 4 \cdot 6} \cos 6\theta - \dots$

and $S = \frac{1}{2} \sin 2\theta - \frac{1}{2 \cdot 4} \sin 4\theta +$

$$\frac{1 \cdot 3}{2 \cdot 4 \cdot 6} \sin 6\theta - \dots$$

Then $C + iS = 1 + \frac{1}{2} e^{i2\theta} - \frac{1}{2 \cdot 4} e^{i4\theta}$

$$+ \frac{1 \cdot 3}{2 \cdot 4 \cdot 6} e^{i6\theta} - \dots$$

$$= 1 + \frac{1}{2} x - \frac{1}{2 \cdot 4} x^2 + \frac{1 \cdot 3}{2 \cdot 4 \cdot 6} x^3 - \dots$$

On putting $e^{i2\theta} = x$.

$$= (1+x)^{1/2} = (1+e^{i2\theta})^{1/2}$$

$$= \{ (1+\cos 2\theta) + i \sin 2\theta \}^{1/2}$$

$$= \{ 2 \cos^2 \theta + i 2 \sin \theta \cos \theta \}^{1/2}$$

$$= \sqrt{2 \cos \theta} (\cos \theta + i \sin \theta)^{1/2}$$

$$= \sqrt{2 \cos \theta} \left(\cos \frac{\theta}{2} + i \sin \frac{\theta}{2} \right)$$

Hence equating the real part,

we get $C = \sqrt{2 \cos \theta} \cos \frac{\theta}{2}$

Q.1

Sum to n

Date

Page

Find the Sum of the Series
 $\cos \theta + 2 \cos 2\theta + 3 \cos 3\theta + \dots$
 $+ n \cos n\theta$

Solⁿ:- Let,

$$C = \cos \theta + 2 \cos 2\theta + 3 \cos 3\theta + \dots + n \cos n\theta$$

$$\text{and } S = \sin \theta + 2 \sin 2\theta + 3 \sin 3\theta + \dots + n \sin n\theta$$

$$\begin{aligned} \therefore C + iS &= (\cos \theta + i \sin \theta) + 2(\cos 2\theta + i \sin 2\theta) + 3(\cos 3\theta + i \sin 3\theta) + \dots \\ &\quad + n(\cos n\theta + i \sin n\theta) \\ &= e^{i\theta} + 2e^{i2\theta} + 3e^{i3\theta} + \dots + ne^{in\theta} \\ &= e^{i\theta} + 2e^{i2\theta} + 3e^{i3\theta} + \dots + ne^{in\theta} \\ &= x + 2x^2 + 3x^3 + \dots + nx^n \end{aligned}$$

Where $x = e^{i\theta}$.

Now, first of all we find the sum of the series on the R.H.S, namely $x + 2x^2 + 3x^3 + \dots + nx^n$ which is an arithmetic geometric series.

$$\text{Let } T = x + 2x^2 + 3x^3 + \dots + nx^n$$

$$\text{Then } Tx = x^2 + 2x^3 + \dots + (n-1)x^n + nx^{n+1}$$

On Subtraction,

$$T(1-x) = (x + x^2 + x^3 + \dots + x^n) - nx^{n+1}$$

$$= x(1+x+x^2+\dots+x^n) - nx^{n+1}$$

$$= \frac{x(1-x^{n+1})}{1-x} - nx^{n+1}$$

$$= \frac{x - x^{n+1} - nx^{n+1} + nx^{n+2}}{1-x}$$

$$T = \frac{x - x^{n+1} - nx^{n+1} + nx^{n+2}}{(1-x)^2}$$

$$= \frac{x - (n+1)x^{n+1} + nx^{n+2}}{(1-x)^2}$$

$$\Rightarrow C + iS = \frac{e^{i\theta} - (n+1)e^{i(n+1)\theta} + ne^{i(n+2)\theta}}{(1-e^{i\theta})^2} \quad (1)$$

$$\text{Now, } (1-e^{i\theta})^2 = (1-\cos\theta - i\sin\theta)^2$$

$$= \left(2\frac{\sin^2\theta}{2} - i \cdot 2\frac{\sin\theta}{2}\frac{\cos\theta}{2}\right)^2$$

$$= 4\frac{\sin^2\theta}{2} \left[\frac{\sin\theta}{2} - i\frac{\cos\theta}{2}\right]^2$$

$$= 4\frac{\sin^2\theta}{2} \left[-i\left(\frac{\cos\theta}{2} + i\frac{\sin\theta}{2}\right)\right]^2$$

$$= -4\frac{\sin^2\theta}{2} \left(\frac{e^{i\theta}}{2}\right)^2 = -4\frac{\sin^2\theta}{2} e^{i\theta}$$

Substituting this value in (1), we get

$$C + iS =$$

$$\frac{e^{i\theta} - (n+1)e^{i(n+1)\theta} + ne^{i(n+2)\theta}}{A \sin^2 \frac{\theta}{2}}$$

$$- A \sin^2 \frac{\theta}{2} \cdot e^{i\theta}$$

$$= \frac{1}{A \sin^2 \frac{\theta}{2}} [1 - (n+1)e^{i(n+1)\theta} + ne^{i(n+2)\theta}]$$

$$= \frac{1}{A \sin^2 \frac{\theta}{2}} [1 - (n+1)(\cos n\theta + i \sin n\theta) + n(\cos (n+1)\theta + i \sin (n+1)\theta)]$$

Hence equating the real parts from both sides, we get

$$C = \frac{1}{A \sin^2 \frac{\theta}{2}} [1 - (n+1) \cos n\theta + n \cos (n+1)\theta]$$

Which is the required sum.

Verif. Given the proof.
Dr. Birendra Prasad
A Lect. Prof.
Dept. of Math.
D.K. College,
Dumraon